Foundations and Pre-Calculus 10
Unit 1 Lesson 3 — Multiplying Polynomial by a Monomial

s

Sy

Distributive Properly

H
!
TG R Tty o s S T BT NG

In Class example 1 we showed that:
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oa(x-2)= Ax —Hx Gl-1)= 3% t 3,

In cach case we wrotc a product of polynomials as a sum or differences of terms.

In this process we expanded the polynomial expression by using the distributive
property, a(b + c) =ab+ac. '

To MULTIPLLY or EXPAND polynomials
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() Foundations and Pre Calculus Math 10
- Lesson 4 — Multiplying Polynomials 1 & 11
Learning objectives: The students will extend the strategics for multiplying binomials to multipslying

. . 2
polynomials and special products ((l + b)

With larger polynomials the acronym FFOIL docs not work since it reflects the skills used for multiplying
binomials by binomials.

But when multiplying binomials by trinomials the concept of multiplying every term in one
polynomial by all terms in the other polynomial is used!

ClassEx. 1:  Expand!

) (3x+2)(x* +4x+4) 2 (Bx+2)(x”=7x+5)

3) (3x- 2a)(4x2 —3xa + az)

J Class Ex. 2 : An rectangle has the dimensions 3x + 2 by x” 4+4x -+ 4. Determine the arca,
Distributive Property

(3x+2)(x* +4x-+4)

Expand and sipusf
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LExpand and Simplify! P
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Product of 3 binomials
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When multiplying 3 binomials together always multiply the last two binomials 1*.... F{m =
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Multiplying Polynomials X +2 x +|
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Class Ex. 1: B 8X +\&X2+6Xfl
g~ 1 Expand and Simplify!

1) (x+5) 2) (2x+5)
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Class Ex. 2:
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Foundations and Pre-Calculus Mathematics 10

Multiplying Polynomials I

Products of binomials and Trinomials

With larger polynomials the acronym FOIL does not work since it reflects the
skills used for multiplying binomials by binomials.

But when multiplying binomials by trinomials the concept of

ClassEx. 1:  Fypand!
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Name: Foundations & Pre-Calculus Score: /40
Date: of Mathematics 10
Multiplying Polynomials I Assignment
Scction A: (1 mark) 9) (20_3(1)(204_3(])
Expand.
D (x+7)

10) (5—2.\‘2)(5-|-2,\‘2)
2 (3x-1)

Scction B: (2 marks)

1 5(2x-3)(x—06)

3) (x-8)

12) 2(4x-3)(3x—4)
4y (2x-3n)’ A

13) 7(5a-3)(6a+1)
5) (3a-— b)2

14y —8(7a+3)’
6) (5x+ 2y)

15) 5(2x+1)’
7)  (4a+2c)(4a+2c)

8) (5x+3n)(5x—3n) .
16) 5(3a—2c)(a+3c)
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Name; Foundations & Pre-Caleulus Score: 140
Date: B of Mathematics 10
Multiplying Polynomials T Assignment

22) Sx (3,\'7' ~ X l) - (4.\' 4 3x7 ) (5x--8)

17) —4(a+2¢)(2a-3b)

23) 5(2a-3)(2a+5)+3(x+7)(x+2)

Scction C: ( 2 marks)

18) (x=5)(x+5)—(x+2)(x+8) 2y 8(5-3x)(245)~3 (1)’

19) (x-—4)(x+6)-I-(x-|-2)(x~l-8) 25) 3((1—1)2—2(261~1)2

20) (9¢c+4)(4c—9)~(6a-5)’

21) (x—5) +(x+5)

Section D: (3 marks)
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Name: Foundations & Pre-Calculus Score:, 140
Date: of Mathematics 10

Scction A: (1 mark)

Expand.

(x-l-7)2
it o U + WG

2 (3x-1)’

AQxr-bxt)

=
— oy ¥+6H

(4a+2c)(4a+ 2c)

lba*  lbac +4c*

8) (5x+3n)(5x —3n)

Multiplying Polynomials I Assignment
9)) (2¢-3d)(2c+ ’30’)

Net-d b

10) (5- 257 )(5+ 257

Scction B: (2 marks)

(10) 5(2x-3)(-6)

0% - F5x+ 90

12) 2(4x-3)(3x—4)

@7 (5a-3)(6a-+ 1)

'&‘OC{l -—O( | a ";L\

14) -8(7a+3)’

15) (2x+1)"

20x Y ?\o x4 5

16) 5(3a—2c)(a+3c)
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Name; Foundations & Pre-Caleulus Score: 140
Date: of Mathematics 10
Multiplying Polynomials I Assignment

22) 5x(3¢7 = 7x 1) (4x+3x°) (5x -8)

17y |~4(a+2¢)(2a-3b)
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Scction C: (2 marks) = 6(4“‘; ‘l'IOC("@Q 'l%s + 3)( X2 ‘|'QX‘H(I\,
= 200 +00 =TS t X 4T Tk 4+4;

18) (x-5)(x+5)~(r+2)(x+8) 24) 8(5-3x)(2+5x)-3(1+x)’

@x ~4)(x-+6)+(x+2)(x-8)

Ay \ax — ¥ 2

20) (9c+4)(4c—9)—(6a-5Y’

(A -10xt2S) ¥ (xPH10x+2S)
@(x—S 2+(x+5)21 = \(Q’)QK*%\S + ﬁﬂm +£S
=ax" +50| - -
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